Homework 9

Thursday, November 12, 2015 9:30 AM
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(> Note Hhot pade < cow Ve reached £rovn pane 3 in one step
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rngf1) % seed the random number generator
% this way everyone will get the same answer!
n = 1@a@;
A& = randin,n)
A = diag(diag(A)) + triufA,1) + triufAa,1)’
% (triu(A,1) extracts the portion of A strictly above the diagonal,
% 50 triudA,1)" mirrors that below the diagonal)

R s code v MoPab or Octave to jnitialre A.

@ (e Yo power method o compuie Hhe evgenvector df
A com\sx()onA\g 4o Yne \ag&s’r- vv\oﬁvx'\\uo\.e eﬁema\\meﬁ
\\eri(g o \\Som\ao\\le, \ndeed. Cow\\wx’rcoL aw @ Bevwec:\'or,
GAhat s Yhe e‘\\@ev\\)a\\v\t? Show Yo work |
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